
φ  καί  ψ   αληθεύει  μόνο όταν  φ ∧ ψ  =  Τ 

φ  ψ  φ ∧ ψ 

-------------------------- 
T  T      T 
T  F      F 
F  T      F 
F         F      F 
 
 

 

φ  είτε  ψ   αληθεύει  μόνο όταν  φ ∨ ψ  =  Τ 

φ      ψ  φ ∨ ψ 

-------------------------- 
T       T      T 
T       F      T 
F       T      T 
F       F      F 
 

 

 

   όχι φ   αληθεύει  μόνο όταν  ￢ φ  =  Τ 

 

φ  ￢ φ 

-------------- 
T      F 
F      T 



άν  φ  τότε ψ      αληθεύει μόνο όταν    φ  implies ψ   =   Τ 

 

 

φ  ψ   φ  implies ψ 
--------------------------------- 
T  T       T 
T  F      F 
F  T       Τ 
F         F       Τ 

 

φ  implies ψ   =   Τ άν και μόνο άν   φ  =  F      είτε    ψ   =   Τ 

φ  implies ψ   =   F άν και μόνο άν   φ  =  T       και     ψ   =   F 

 

 

φ  implies ψ    =   (φ)   ψ 

 

φ  implies ψ γράφεται  φ  ψ 


